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Identify the number as either prime or composite by "decomposing” the number as done in class.
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Write the prime factorization of the number. Use exponents when possible.

3) 6500 —
A 6 2 >
' 200 00 = Sl . .
o) A 2 67 5 ¢ /3
5) - BO ;
@ @ (D
A 55
1
@D - 26
Find the GCD and LCM for the pair of natural numbers,
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Rewrite the subtraction problem as an addition problem,

5) (-47) - (+32)
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Subtract.
6) (+25) - (-23)
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Use the Fundamental Principle of Fractions on questions 47 through #12

State whether the fractions are equal or not equal, Show why.
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State whether the fractions are equal or not equal. Show why.
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Simplify.
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Convert the improper fraction to a mixed number.
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Convert the mixed number to an improper fraction.
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Write the fraction in decimal notation. You MUST show the actual calculations for credit!
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Find the rational fraction in lowest terms represented by the periodic decimal.
16) 0.29
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Rationalize the denominator.
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Use the rules for exponents to rewrite the expression and then evaluate the new expression.
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Express the number in scientific notation.
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Write the number in standard notation,

22) 4,12 x 107
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Find the number of subsets of the set. = A
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Decide whether the argument is an example of inductive or deductive reasoning.

25) lFresh fruit costs more in winterThis is January. These fresh strawberries cost more,
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26) Use Algebra’s Power Tools to solve the equation by stating each step with the appropiate tool.

3(x +4) +5x = 10x - 10
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